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How many common external tang
can be drawn to the two circles?

1.
A@
7. Write a proof of the corollary to Theorern 7-1

Given: WM and PB are tangents to © 0
Prove: P4 = pp |

‘ ‘. s -
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14 Hﬂm are co ruent m:ﬁm use cor Spo Amm rts

8. S é i
tate and prove a relation between LAPB and /AOB

Written Exercises
A

M. OC m:ﬁm Co _u ete ﬂ 1S _u_ 9] at the on ex-
X

ternal tange
nt segments t
0 two ;
are congruent. floncongruent circles

Given: Tangents 48 and CD
Prove: AB =~ Cp

Proof:
Statements

Reasons

I 4B and OB, |
Draw 4B and CD, Intersecting at Z
2. ZA + AB — ZB; |
ZCH4 CD = 7p

ents an i
d how many common Internal tangents

o 6

A
P ‘
B
B
A
ey

D

3. ZB = 7p
4. ZA 4+ AB = 7zC 4 cp w.ﬂ
5 Z4 = zc -
6. AB = CD, or AB =~ CD A
6. 2
—_— . @ .

298 / Chapier 7

se 1, that the circles are congruent. 1LHEI UL tailgbat

7, Suppose, in mxo:u.ﬂ,
lines won't meet. Supply reasons for these key steps of the proof that the

common tangent segments are congruent for this special case.
Given: Tangents AB and CD; 3 P
80=80 : :
AB = CD _
Prove: mm.\" CcD - A
1. OA L. AB and OB L 4B
2. 041 0B = .
3. 04 = 0B
4.
5.

Quad. AOQB is a [J.
AB = 0Q
By a similar proof, 0Q = CD.

6. AB = CD

Draw two circles, with all their common tangents, so that the number of com-

mon tangents is the stated number.

3. one 4. two 5. three 6. four
7. How many circles can be tangent to a given line at a given point on the
line?

you draw a different

8. Circles O and Q are tangent at point Z. Suppose
bout the new circle

circle tangent to ©O at Z. What can you say &

and ©Q?
9. The diagram shows tangent circles and lines.
PA =10 PB =_1 PE = 2

Exs. 10-12

In the diagram for Exercises 10-12, JT is tangent to O O.

?

10. If JO = 13 and OT =5, then JT =
1L If m/ OJT = 30 and JO =20, then JT =
12. If JK = 9 and KO = 8, then JT = i

bout two lines tangent to a circle at the

?

13. Discover and prove a theorem a
endpoints of a diameter.

14. State, without proof, a theorem about sp
Exercise 13.

heres related to the theorem in

Circles / 299
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